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Ram sold a book for Rs. 450 incurring a loss of Rs, 65. What was tho cost price of the book?
(8) Rs. 400 (b) Rs. 515 () Rs. 385 (@) Rs. 350

Add 376m + 840m + 399m
(e) 1651m (b) 1565m (e) 1361m () 1615m

Which angle can't be constructed by Compass tool?
(@) s0* () 6o* (e) 307 @ 400

Convert 8.75 into fraction form

875 875 875
-_ (b) (c) = ) 875
) 10 {7 1000 L) 100 |6
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6. 3113 Find tho appropriate sign for tho box.
(@ > = © < None of thesa
7. Find the LCA. of 10, 15, 20.
@ 40 ®) 20 © 30 @ 50
5. Add300 + 7+ 009
@ 3079 ) 3709 (b) 39709 (@ 307.00
o Samsw-uxanr |
. gz ea-gx2=? ]
() 89 ) 79 () o9 @ 7 1!
10, The largest 4 digit number which is divisible by 2 is F
) 1000 (®) 9990 (c) 9998, (@) 9999
1. Sum of all angles in a triangle is:
(@ 160" ) 90 © 180 @ 150°
12, Write Hindu -Arabic numerals to Roman numbor CMX.
(@ 010 ) 750 (© 550 @) 900
13, IfE = 5. and CAT = 23 the DOG is written as:
@ 25 () 26 © 27 @ 28
14. 1 a coin is tossed. How many possible outcome is occurmod? |
(@ 1 2 © 3 @ o
15, Complete the serics with the option given below:
1.4.9,25, 9, 81
@ 30 ) 35 (© 40 @ 36

B 20 3@ 4@ 5 @
@ 100 1 120 130

6. (@)
14. (b)

7. (d)
15. (d)
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